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Quanrinly COMMON EXAMINATION - 2022

MATsmMAncs Mgee:] 1'1p 7 2121
| : - Marks : 100

I L& humq lhn hnt uniWun. 14Kl e 14
1. I thwra ape 1024 relations from a 66t A = {1,2,3,4,5) m A sl B, then number of elements in B Is |
i) 4 h) 2 a8 d) 4 ; o
.2, If!(x)ﬂy’ ¥ than f(y- l) f(x H)h- ) A% B)2+2% &2« d‘x o d)Ax-2
3, The sum of the expanents nr the pirime factors In the prime factorization of 1779 (s '
n) 1 h) 2 )3 1 dya . SV
»4' 7" A ehereirvaen ("]‘ld 1”‘)) f)’ ’} h) v f:) <R il 9)4
5, ¥ ':v‘ I8 not equal to '( e,
; , 7 n 2
L Yl ( [ ) [’ l] 4
B E v by [ y4=| ) | y==| 42 dy | y4=1|~2
y ot G ), v ),.J—/-'y,
6 A-fi "7~ b bYs #b Nt/ oy
Tt Mk wen  avew /o
7. Graph of & linear polynomial is s ' '
" w)stralght line b)) drcle ’ ¢) parabola  d) hyperbola
B InAMN, £1,6607, £ M =507, 1 ALMN  APQR then the value of /R is
a) 40" by 70 ' €) 300 d) 1100 ‘
9. Ifin MLC, DE[[BC AB = 3,6cm, AC = 2,4 cm and AD % 2,1 ¢m then the length of AE l'x
i) 1.4cm b) 1.6cm ¢) 1.2¢m - , d) 1.05¢m
10, The straight ling glven by the equation » = 11 (5
&) parallel to ¥ axls ~ b)parallel to y axis
) passing through the origin d) passing through the point (0 11)
11, 1f slope of the line PO Is //3 , then, slope of the perpendlcular blsector of PQ Is
a) Jf3 b) o3 ©) /f Bt i 6110
12, The equation of a ling pass lrm through the origin and perpendlculnr to the line 7x - 3y + 4 0 Is
BY 7/ =3y 4 A= (0 b) 3%« 7y44 =0 CO34Tym0  d)7x-3y=0 ,
{ | . ,
1. I sinh = cosh then 2 tan’o 4 sin0 - 1 Is equal to  a) '“% b) % <) % d) —%'
14, Varlancs of first 20 natural number 1% - A
n)32. 25 b) 44,25 ' ¢) 33,25 d) 30
a mxu Anuvisr any 10 questions, Question No, 2818 compulsory. - 10X 2= 20
19, WKL B ={(3,2),(3,4), (5, 2), (5,4)}, then find A'and B,
16, U01(x) = 344 2, 9() = G« b and If fog = gof, then find the value of k,
17, ¥ind the least number that Is divisible by the first ten natural numbers,
. A8 13624 = 20 K 3 then find a and b,
19, Wihieh tarm of mn AP 10, 1306, 0, snness 16 sioee, 547
)b 2
20, Find Hm sxchudad values of the fr)lluwlng axpression R“”""!"“ pm
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© 21,
22
23,1‘
24.
25.

26.

27.

28.°

-?ria

| 30:7

132,

3_3:’
34!
35.

36.

37.

39.

40,
41,
423

43,

,State and prove Angle Blsector theorem
~In ﬂgure DE 1| BC and CD || EF prove that AD? = AB X AF

_ b) Construct a APQR which the base PQ = 4.5cm, /R = 350

-h\‘\:-"\
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4001‘ l2 16
Flnd the square {root of "'"l OO_x" y4 . |
In AABC - D and E are points on the sides AB and AC respectlvely such that DE || BC.

If A%B A and AC = 15cm, find AE. , il &
Show that the points (-3, -4), (7; 2) and (12,5) are colllnear 2 ' _ _ ‘
Find the slope of a line joining the polnts (5, J") with the orlgln Ct) 0) ‘ o ‘

Find the equat\on of a straight line whose slope is )

1+sin9 ‘ i _
Prove that : =secO+tanB. . '
1-sind i,

Find the range and co- efﬁcient of range of the data 63, 89, 98, 125 79, 108, 117, 68.

4 and it passes through( -1, 2) ,

{

" '@I'“’ ¥ -l i 396204 636 h
IfP=——ro +b' —;—Ethenﬁnd Qgg ‘\H 1—!1-1 xty Y .HU'.
' o ISPt sk T
Note : Answerany 10 questlons Questlon No. 42 Is compulsory. : 10X5 50

Let f:A—B be a function defined by f(x) 'y—l where A = {2,4,6,10,12}, B = {0,1,2,4,5,9}
represent f by i) set of ordered palrs i) as table iii)an arrow diagram iv) a graph. ‘

'If f(x) = 2x + 3, g(x) =1-2xand h (x) = 3x. Prove that . fo (goh) = (fog) oh.

Find the sum of the all natural number between 100 and 1000.which are divisible by 11 \‘097}—\ 19 +130+

Rekha has 15 square colour papers of slzes 10cm, 11cm, 128m5)..... 24cm. How much areacanbe & ’?O .
decorated with these colour papers? 3 ‘ 41

Solve : 'x+y+z—5, 2% - y+z=9, x- 2y+32 16 = 0. X et g
If 36x* - 603 4+ 61x2 - mx +nisa perfect square, find the values of m and n.
Solve pax?-(p + q)x + (p + q)2 =0 by formula method

Find the area of the quadrllateral formed by the points (8,6), (5,11), (-5 12) and (-4,3).
Find the equatlon of the perpendicular bisector of the line jolnlng the polnts A(-4, 2)and B (6 4)

cos® A-sin® 4 cos® A +sin’ A
cosA-sind |~ c0s A+sin 4

=1

Prove that ( ] =‘ZslnA cdsA. :

The scores of a Crlcketer in7 matches are 70 80 60,50,40,90, 95 Find the standard devlatlon :

A straight line cuts the co-ordinate axes at A and B. '\\
If the mid point of AB is (2,3) find the equation of AB e

Note: Answerthefollowlng questions. | " i 2)(8 =16 -

a) construct a triangle similar to a given triangle ABC with its sides equal to. 6/5 of the correspondlng
sides of the triangle ABC. (Scale factor 6/5) (OR) ;

b and the median from R to RG is 6cm.
) A bus is travelling at a uniform speed 50km/hr. Draw the distance - time graph and hence find

i) the constant of variation. Ii) how far will it t
ravel In 1% hour. iii) the time required to cov
of 300km from the graph. (OR) . e y o dlstance

Draw the graph of xy =.24, x,y>o Using the graph find, 1) y when x'= 3, Il) X when y =12,
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